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1. RÉSOUS les calculs suivants en décomposant le deuxième terme



………
………
………
5239 + 2973= [[(5239 + ……) + ……] + ………] + ……… = ………



………
………
………
1585 + 5648 = [[(1585 + ……) + ……] + ………] + ……… = ………



………
………
………
3195 + 1957 = [[(3195+ ……) + ……] + ………] + ……… = ………



………
………
………
6188 + 1275 = [[(6188 + ……) + ……] + ………] + ……… = ………





………
………
………
5458 + 2673 = [[(5458 + ……) + ……] + ………] + ……… = ………


………
………
………
8749 - 3956 = [[(8749 - ……) - ……] - ………] - ……… = ………


………
………
………
6529 - 2956 = [[(6529 - ……) - ……] - ………] - ……… = ………


………
………
………
5745 - 1858 = [[(5745 - ……) - ……] - ………] - ……… = ………


………
………
………


Prénom


 


:


 


 


Numération N 15 


–


 


Différentiation 


4


 


1.


 


RÉSOUS les calculs suivants en décomposant le deuxième


 


terme


 


 


 


 


………


 


………


 


………


 


5239 + 2973= [[(5239 + 


……) 


+ 


……] 


+ 


………] 


+ 


……… 


= 


………


 


 


 


 


………


 


………


 


………


 


1585 + 5648 = [[(1585 + 


……) 


+ 


……] 


+ 


………] 


+ 


……… 


= 


………


 


 


 


 


………


 


………


 


………


 


3195 + 1957 = [[(3195+ 


……) 


+ 


……] 


+ 


………] 


+ 


……… 


= 


………


 


 


 


 


………


 


………


 


………


 


6188 + 1275 = [[(6188 + 


……) 


+ 


……] 


+ 


………] 


+ 


……… 


= 


………


 




Prénom   :     Numération N 15  –   Différentiation  4   1.   RÉSOUS les calculs suivants en décomposant le deuxième   terme         ………   ………   ………   5239 + 2973= [[(5239 +  ……)  +  ……]  +  ………]  +  ………  =  ………         ………   ………   ………   1585 + 5648 = [[(1585 +  ……)  +  ……]  +  ………]  +  ………  =  ………         ………   ………   ………   3195 + 1957 = [[(3195+  ……)  +  ……]  +  ………]  +  ………  =  ………         ………   ………   ………   6188 + 1275 = [[(6188 +  ……)  +  ……]  +  ………]  +  ………  =  ………  

